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HHTHERK 0.0 0.0 0.0 5.0 0.0 0.0 0.00 0.00  0.00 0.0 0.03 3.0 0.0 0.0 o0.01 1.0 0.04 40 0.00 0.0
ABNLETD 0.0 0.0 0.0 0.0 0.0 0.0 002 001 003 3.0 0.00 0.0 1.0 50| 0.00 0.0 0.18 12.0 | 0.00 0.0
ABNLETQ 0.0 0.0 0.0 0.0 0.0 0.0 | 0.03 000 003 3.0 0.00 0.0 0.0 0.0 | 0.01 1.0 0.10 6.8 | 0.01 1.0
\IEHD 0.0 0.0 0.0 0.0 0.0 0.0 001 003 004 1.0 0.00 0.0 0.0 0.0 | 0.00 0.0  0.31 14.3 ] 0.02 2.0
I\IEH@ 0.0 0.0 0.0 0.0 0.0 0.0 | 0.00 { 0.00 i 0.00 0.0 0.00 0.0 1.0 50| 0.00 0.0 0.06 6.3 | 0.00 0.0
mEDHD 0.0 0.0 7.0 55.0 0.0 0.0 | 0.00 | 0.00  0.00 0.0 0.00 0.0 2.0 50| 0.02 1.0 0.29 17.6 | 0.01 1.0
HEDHE 0.0 0.0 0.0 0.0 0.0 0.0 | 0.00 | 0.00 i 0.00 0.0 0.00 0.0 0.0 0.0 | 0.00 0.0 0.05 48| 0.00 0.0
R3%& 0.0 0.0 1.0 8.6 0.0 0.0 0.01 001 0.0 1.0 [ 0.004 0.4 0.6 2.1 o0.01 0.4 0.15 9.4 0.01 0.6
TE (BIF) i it % % () () &b & & 5 if if it i &P 5 (3f) () (%) (%)
FE (BIE) 0.0 0.0 0.1 0.2 0.0 0002 012 03 155 0.036 0.7 1.4 6.1 0.13 47 0.1 1.5 ] 0.00 0.0
R2%E 0.0 0.0 0.3 1.7 0.0 0.0 016 0.04 019 148 0.018 1.2 0.2 0.8 | 0.05 2.7 0.15 14.7] 0.00 0.0
RITE 0.0 0.0 0.0 0.0 0.0 0.0 | 0,03 0.00  0.03 2.8 | 0.030 0.2 0.0 0.0 0.02 2.2 0.03 3.3 o0.00 0.2
H3 0% 0.0 0.0 0.0 0.0 0.0 0.0 008 002 010 8.8 | 0.000 0.0 1.2 6.0 0.08 46 0.09 43| 000 0.0
o H2 9% 0.0 0.0 0.0 0.0 0.0 0.0 025 071 0.9 30.8 | 0.127 0.7 0.2 1.5 | 0.06 50 0.23 16| 0.00 0.0
H2 84 0.0 0.0 0.2 0.8 0.0 0.0 | 0.01 002 003 1.7 0.003 0.3 1.3 58| 0.71 1.7 0.08 85| 000 0.0
H2 74 0.0 0.0 0.0 0.0 0.0 0.0 016 0.0 017 12.0 | 0.000 0.0 0.0 0.0 | 0.01 0.5 - 355 | 0.00 _
H2 64 0.0 0.0 0.0 0.0 0.0 0.0 033010 043 21.7| 0.170 4.0 57 20.0| 027 143 - 30| 001 _
H2 54 0.0 0.0 0.0 0.0 - —| 104 024 1.28 40.4| 0.008 0.8 0.0 0.0 0.02 1.6 - _ - _
H2af 0.0 0.0 0.0 0.0 - —| 009 006 015 10.7| 0.000 0.0 1.3 6.7 o0.04 3.7 - _ - _
H2 34 0.0 0.0 0.0 0.0 - —| 012 001 013! 11.5| 0.000 0.0 45 20.0| 0.0 0.8 - _ - _
R3%& 0.0 28.6 0.0 42.9 14.3 42.9 42.9 42.9
TE (BIF) i % () 2 if it P (%)
FE (BIE) 0.0 1.7 0.0 85. 7 20.3 33.2 60.0 2.8
R2%E 0.0 0.0 0.0 57.1 50.0 16.7 66.7 0.0
RITE 0.0 0.0 0.0 83.3 16.7 0.0 66.7 16.7
P H3 0% 0.0 0.0 0.0 100.0 0.0 40.0 60.0 0.0
E3TES H2 9% 0.0 0.0 0.0 83.3 16.7 66. 7 100.0 0.0
(%) H2 8% 0.0 16.7 0.0 66.7 33.3 33.3 100.0 0.0
H2 74 0.0 0.0 0.0 100.0 0.0 0.0 25.0 0.0
H2 64 0.0 0.0 0.0 83.3 66. 7 66. 7 66.7 -
H2 54 0.0 0.0 - 100.0 20.0 0.0 40.0 -
H2af 0.0 0.0 - 83.3 0.0 33.3 50.0 -
H2 34 0.0 0.0 - 100.0 0.0 75.0 25.0 -




